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PARTA-—- (10x 1 =10 marks)

Answer ALL questlons |

Choose the correct, answer

1. A powerful technique to solve the linear -

Programming problems 1nvolv1ng three Or more
~ decision variables is

" (a)  Graphical method -
(b)- Slimpl'ex method
(e_) Two-phase method
(d) No'ne of these




. b

The set.of feasible solution to an LPP is a -

(a) concave set (b) convex set

-(c) null set (d) none

Number of Variables'in the dual of 4 constraint

primal LPPig —
(@) 1 b) 2
() 3. (@ 4

In the standard form of the LPP, the primal - dual
pair is said to be - -

(a) symmetric (b) unéyn‘qmetric

() equal (d) unequal

The transpoi*tatio‘n problem is balanced if
(a) Zai + Ebj ,. (b) Zai > ij |

(¢ Za; =3b; (d) Za; <Zb;

The number of allocated cells in the transportation

problem must be

(a) m+n (b) m+n+l
¢) m+n-1 (D) n+l
Assignment problem is balanced if
(a) m=#n (b) m=n

¢ m+l=n d m=n+l
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8.

10.

11

[Tungarian mabhod was introdaced by
() G.B. Danlzipg () Do onig,

(¢) D.Henry (1) None

The number of possible nequence e, 1obts and g,

machines are - -

L
) ()" (hy  (ml)
) !
© ()" (y  (m)
Which indicates the time required by acjob on cuch
machince?
(a) Idle time (h)  Proccusing Lime

) Ilapsced time  (d)  None
PART B — (B g H o= 26 marks) |
Answer ALL questions choosing cither (a) or (h).
(a) Joxplain the standard form of a LP1.
Or

(b)  Solve using Graphical method

M:ZIX, 2 = le |- xz

4 c “ “ ‘ .
bt Z.')C] - xz < (5, .')Cz "“.')CJ b (), x'] ,.’)CZ £ U

'S
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12. (a) Explain the formulation of a dual problem.

Or
(b)  Write the dual of the following LPP.

Mln < = 4x1 o+ 63C2 +18X3

S.t. X1 +3x2 28, X9 +23C3 25, X1,%X9,%Xq >0.

13. (a) Explain the matrix - minima method.

Or

(b)  Find an initial basic feasible solution to the

following transportation problem using
. North West corner rule. |

D1 D2 Ds aj
S| 8 | 10 | 12 | 900
S2| 12 | 13 | 12 | 1000
Ss| 14.| 10 | 11 | 1200
b 1200 1000 900

14.  (a) State and prove reduction theorem.

Or
(b)  Solve the foﬂ_oWing assignment problem.
o A B C
1|18 7 6
|5 7 8
Immr{e 8 7
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17,

:\\ “ \ v . | . . e .
\ l‘\l‘l\nl\ (l\(\ l)\'l\‘;](‘ t(\]'ll‘s ‘IHl‘kl 1n .“‘\(‘(Ill(\]lvlllg'

Oy

AT . . . . 2
MY Bxplain {he processing  n jobs and 0

nachimes,

PART C o (5 08 = 0 marks)

Answoer AL questions choosing vither (2) or (b).
W Weite the stplex algorithu.
Qv
(M Solve using two-phase method
Maximize = =5y + 38w,

St 2.\'1 - .\'2 > l. .\'1 - 1.\: > G. .\.1 ..\.:3 > 0

(@) State and prove basic duality theorem.

Ov
(b)  Use duality solve the following

Max z = 2x) + 20,

S.t. v +2v0y 10, 4+ <6, —xy 2,

..\.I - 2\3 = 1_. .:\‘l ,.1;:_)' 2 O .
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18.

(a) Explain the transportation algor%thln.
(b) Solve the transportation problem.
A B C D Supply
X 6 1 9 3 70
| Y 11 5 2 8 55
7z |10 12 4 7] 90
Demand 85 35 50 45
19. (a) * Solve the folld;fving éssignment problem.
1 2 3 |
I 9 26 156
II |18 27 6
IIT | 35 20 15
IV |18 30 20

_ ox _
(b) Explain the Hungarian method.
20. (a) Find the optimum sequence for the following.
Jab : 1 2 3 4 5 6
Machine A: 30 120 50 20 90 100

- Machine B: 80 100 90 60 30 10

Or |
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(b)Y  Determune the optimal scquence,

Job: A B C D I I G

Ml: 3 8 7 04 9 8 7
M2: 4 03 2 5 1 4 3
NM3: 6 7 5 11 5 6 12
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